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Final Exam Review Schedule — Algebra Il A

Monday November 21* -~ After quiz, review 1: Linear Functions and Function Operations
Tuesday November 22" - Review 2: Inverse functions, Families of functions, Absolute Value
Functions, Start matrices.

Wednesday November 23" (Half day) — Review 3: Finish matrices

Monday November 28" _- Review 4: Quadratics and Exponential Functions

Tuesday November 29" — Practice Exam

Wednesday November 30" — Practice Exam results. Exams for hour 1.

Thursday December 1* -- Exams hours 2 and 3

Friday December 2™ — Exams hours 4 and 5

Monday December 5" — Start Trimester 2

About the Final Exam

66 questions
Worth 13% of final grade

Cheat sheet allowed — /1) On ok b U = _j«/ﬁ re— 20 Z €
All hour will be glven to complete the exam
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7) Find the line parallel to y = -3x + 3 through the point (4, 3) in slope-intercept form.
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8) Find the line’ perpendlcular to the llnLé y=2x+4 through the point (-1, 2) in slope-intercept.
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9) Suppose f(x) =-3x + 7 and g(x) = 4x + 1. Find: = ¥
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11) Let f(x) = 2x—2 and g(x) =x — 1. Find -5 and its domain.
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